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ALLIANCE miGy SCHOOL,
TRIAL EXAMENATEONS -2017
Kenye Certificaze of Secondary Ea'uca’z‘{a;z_ (E.CSE)

®  Write your name and indeyx aumber in the SPaces provided a¢ the
*  The paper contains Two sections: Section 1 and Seetion 17,

° Answer ALL the questions in Section 1 and any FTVE ques

stions from Section 7 ;
2 All working and answers must be Written og the qUestion vaper ir the SPaces provide Eelow 2ach
question, 7

103 of this page,

“ Show ai the stens in vour .alcuéatéeﬂs, giving your CRTARS Mmeeh wasn s
@ach question.

Hen-nrogram abis gilent electronic calculators ang x NEC nathematical 1ah;
CXCEPT Where stateqd otherwise.

For Examinerg use only
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Seglion 1 {80 M) Artemnt ALL the guestions

sesien 1 (D

1. Simpiify;

2 6—10+2{24 1
g QL 1821042( 2 1)

——o———\Z.t L

R
2. Givenf =

‘BXpress x in terms of a zandw et Vo T e

pA =
= @+:{) @“—PC) V :L + C?{iL%L_ L Er
W a-x0)

3. Use binomial expansion to expand and
expansion to evaltuate (2.02)%

Z%—zﬁgj)ﬁ + )L%Q—z\j);%* X 2g) M 5
ﬂ> i zﬁ'x‘fﬂu L]L){_EH - ,—5 P Log;{f}‘—g— %‘D%%f‘z' L
' co 2% obood2t w2 foo) B m

simpliy (x—2y)° up to the third term. Hence i se the
' e ser " {4m

IQ

ko o
g‘uic._‘{'w 2
~ 00

4. Determine the possible value of x for which the matrix below is singular, (2mksy
X
(2% 12 R e T SISl
e - & bt T
r) -‘.{ oy '—r.— — —
R, S JELA =
s ::__H“‘“-.\\ -
£ b Page. £ "‘-_Ir
s T T2 T e i
/\‘ :__. wlh oy = i e il & '-/,// e 3
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Z. Findthedistance between the

_____ 3 -apointB(-4, 1) . _

cenire O of a circle whoss equation is 2x%+ 2¥*+6

i _._-_-,..._.._.-_____.._._.-______

94"y ey @/_& )
erg ey Gt 7)) =5 &

< *loy+7sg,

PO —
..—-i

/("51'______'_%,_,;- i

7

6. The length and breadth of 3 rectanguiar paper wera fMneasured as 18cm and lzcm;’glg‘:_':i--th';e_ﬁ_g_a,'-es’“
Imm; find the percentage error in the area of

the paper, correct to 2 signiﬁcant-ﬁggé res. |

Ml et = g erx 12.08 — 2.07.50

b
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e stone is thrown vertically do

wnwards form the top of a cliff at 24 ms”
. . ShL
gravity as 10ms

%, Taking acce ] ei_‘étidn due
, find the expression forits v '

elocity, by iam
Els LD v::/}g.czt , FAEI
é 5, _— ’xf::lo%:—f’i&ﬁ L il
S = ne bl o e | -
>E>uzf ak gzo VT 2f

8. W/ithout using tables, avaluate;
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. The ratio of boys to girlsin a class is 5:4, On a certain day, /éo; the girls were absen = while 1/5 of ‘1: '
90Ys were absent t00. If 5 more pupils were absent, 1/, of the total class would hav- o been’ absent' S
How many pup:ls are there in that class? ]

Stedbot<= 2 ;(/ =

\ - :
o g ' £ -+ .
Girt> b’ seut /‘f \/C?‘ P

_L/' Mi
X 10. Find the 2 angie betweer the Imes nﬂy 2x=7and dy—3x=7 o
_ . i
{ji -3 2( N CZ
5 » J 0\"‘-4 il rd
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s 5 e 3 |
kel ’{z ¥ Lo :
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H H @F-‘J -

[ U 2o L& it
L \_\““__;l-”'__-.___‘(__._-;’."-_'__,..--

e

!

TP =3y =P 3, find the coordinates of the
4y +x~28=0

point at which the tangent js perpendicus larto the }




12.The diagram below shows two circ

centres P-and Q are Jem apart——

les centres p and Q and radjj 2. Scm and 1.5¢
Construct the

m TFE spectnr‘iy Th
ek e T :
N tangents to the two. circles,

direct commo

L2 Caleilate the 221 2nd the mean absoluta deviation from the measn of the fo! Howi g 3
- ‘: .‘{z\ (o, Q ? : /
gy Ty Ty 03y 7; - i2 e ':'!_.:ri? l f/( ‘:',". - - x,?:’:'_
/_ 5 P C, __.-—-/_,___a !'

B v g, e LN R .
' = SR+t T HodS ez 4L = 2o
Z,[o[(-* o S
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14, Compiete the square for ¢

e quaaratic expression 2;{
pax + )" +r where P, Q

*+ 6%~ 1 expressing the ans
+8nd r are constants. Hance de

wer in the form
termine the value of 2 q,

andr (3mks
. B ,
¥ 5 - = L L : B e
Tt @&;fiij o _;’,? e Y S p = | . _
— ; - J‘\! f '—/—'E"{
A P A
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55, Abody stans from rest and after ¢ seconds its veledity in ms™ was recorded as Show=r bejow:

‘Time (secs) BT 3 4 |5 6
Velocity m/s 6 2.9‘5.4 ‘7.7 9 (114 Tie Rk 2

Use the trapezoidal rule to estimate the distance covered by the body hetwesn 1 ant:g 6 seconds

é_,/Mf
ot K([ﬁ_ﬁz*‘ﬁ—’?ﬁ !‘5"5"
. (mr(—f— 71% ) e

__/7 /),\ (Q\ G172, 7) 2_(_5 Y77 +4, 7*—!/ S‘—

o GS CLQ’U"'T G% C{’) (QD\ w2

16. The figure below shows a circle inscribed in an isoscet
contact between the triangle and the circle, O isthe ¢

find the radius of the circle and henra

es triangle ARC. If Q, P and R are the pomts
centre of the circle, BO = 19,5 an &« 30
determine the lerigifi 5f minor arc 20 o

20 = 18cm :
{4mi K,‘

y vl g T
: oo -
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Section 2 (59 MXS) Attermpt ONLY Fiys guestions

17, Eightv boxes of mat

ches ware selected at random and the number of sticks in each ,3@*{ counted.
table below shows the distribution of the number of sticks per box He 2 b s
o o a] = i 1 T
Ev'o. of sticks 32:33 ~|3435. 196437 {4835 T a5 4243~ .
E\Io. of boxes ’ (Sawe el 14 2

o7 "20-

Using an Assumead mean of 36.5, determine to 4 signific

ificant figuras;
a2} The mean number of sticks ner box
b} The standard deviation
c) The median
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9. Mir Ng’etich tommutes to scho
probabilfty that he will be

of either By walking or ridi g fhe V’vaiks the .
lateis fg Suppose he o

fate is %4 while if he rides on = a bodaboda, the probablhﬂf ‘that he will

% O G E
ssemmther to walk or ride

ona bodab oda to scho

- a) Draw atree c.iagram o show the possible ouicomes.

b) Determine the probabiiity that he wil| ke late on any given day

= P(w g L) o~ CE 5 L)

i f/ ( \3 / / X / 2 y
= S W “3-- / (-*' 7 T, s' = : WD £ : &
L// ;\-/ _-" N L/ 4 | I
il @
¢} if he waiks to school for four suecas

cessive days, determine the probablhty that :

@JJ )

- Every day

ey K{K"

i.  Onanythree days

(3mke)
3 ‘ ? . - o __}\_.___.___,_____._ﬂf.\.\_"... .....‘_.._.___-.__________,______. - .j
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; ) ;"? R
Z0. Given that the matrix P= A3 q}
! e i _;’ - 5, i : -
a) Find P *the ihverse of P A =2 AR

b) Inacertain county election campaign M

campaign team to the county and hira L.
helicopter is hired per hour while.a :

- The cost of hiring 6 helicopters ang 14 lorries is 1,516,000, while that of,
s helicopters and 8 lorries js shs. 1,852,000, - Lt 5

r. Serieta has to hire helicoptersta.
oities to ferry his supporters to hij;
lorry is hired per day.

f.- Form two equations to represent the infermation above

Bl + 14t = 1518 v00 "7
3 lode + L = | 252 00p J

i

il Use matrix method to find the cost of hiring 3
2 lorry per dav.

g i ER s \ ,:'/ O B‘ 2 F\ [ - %,

/ 5 o 1"4?_,‘:__‘;

i\\ 5/2-; #z/z,z./‘itsf ij;kbj;:‘ 2

_ 82L.087
ok — 1231926 <081+ 23]
< CL TN\ ey T8 6087 +— i20 126057
. _ ;o Helleopter = 9L, i€ bamio .1
¢) Cnacertain cay Mr. Seneta hired 2 such helicopters from 0815h to 1715k arxd
If a discount of 3%

8 such lo
was allowed on each lorry, calculate the totai ameunt paic

PY Mr. Sen

Pty {3m
i
Lomes =\ .o, < G i 4 Yo X9 = %L fliyyn -
ngc,o{)t@—’ 2y, 15Dews X T W s S T
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UL Inthe dia

gram balow the
Qle, 7). Point 2

Coordinates of poin
Ison AB such that 3AB = 2AC,
cduced such that AQ:GT = Tt

S~ B DandQare A, 1), pig o, D17, 3) ang o
Point £is on AD such that 3AF =2A

‘~ Point Tis Ofi

Fird;

a) Coordinates of C

Y]

Py

AC= =z a5
Ac 2,

b} Ccordinates of E

Aot —=

B, L
Z = [ |5

tel = e
i ér-;:: '/LQ :



¢} Coordinates of T

{2mksy Ay

- d) bhOW ﬁat C.T,and D are cahmear

_':_':{3mKsJ -

.mlﬂ@!& cT L oy o Mwecofm lboi/u& i./
T=()-6)=(2)
i

g R
' ﬁ o= .o ¥
| ] Gt { ) &_,";I
. o B
fieeee OF = 3?3—‘: e {:T;f e {/%

e) Determine the ratio 8Q:QE

g@) -'/2‘

¥ 3 5:._(-1mk)
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a) Aseriesis given as;
TSN =3 +3 45415 BT Ty b ndenot
the value of i and sn. i

b) Given that 2, 15, Sa are in geometric progression, find a.

A
[ "i & i
‘o — 9% =N 230 = 9g%
.'d__':_‘___ R :‘—l‘: /-_'_’ . ——
; e, 2T r
Dz o A

¢) A businessman de posits Ksh. 20,000 at the be

ginning of everyyearinab
interest at 12% p.a. How much money does h

ank which pays
e have ir_z the bank atthe e

nd of 10ears? -
RS- s R
\—"-’-'-’- :

! e n—{ ‘ n=—=2 A—z ; :
WAL AR S R +ita T e faip g

; "4 S e : ok
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23. The figure below rep

resents a solid fry
10c¢m and 6em respe

Istum. The faces ABCD and EFGH are paralles; squares of s
ctively. Each of the slanti "g edges AE, BF, £G, and BN are 4em iy length,
£ Aem 5

Determine to 3 siéniﬁ,éént ﬁgLIres;
a) Lengthof the projection of AE on the plane ABCD

e A /M{”.
Ao = “—%‘f‘{' e -ﬂ_{_.(t{,,—-g‘ﬁl'ci 8
L -y PR = 2 B

31 The 2Ngie tetw

Ween jine AE and plane ABCD

e

e

. i < 52 ':"‘i/q“g = A &

The angle between Planes BCGF and Ascp

“LL,Q”‘\@W = J%Lﬂ- 2.2 = A2 e

| 8 4
q %gh GJ‘__,__C}L ! Dd——é — Q_C.-'—-A. P %J\—

2
2 cnn

c)

d} The total sy face 3
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24. Use aruler and Pair of compasses orly for ail constructions in this guestion.

a) Drawa linesegm ENtUAB="6cm and bisectit————
b) Onthe perpendicular and on one side of 2B locate 2

¢) Apoint P maves such that angle APB =52,5° on
AB as C construct the locus of B s
d)

- Onithe locus of P locate a point Q such that the area-of triangle AQB is may

e}Fmdfhearea of this triangle AQB
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= 2.8 ¢ 2 ={os*® ¥
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